!} Swiss Intercooperation

Annex 10: Instructions for data analysis

1. Preparing the analysis

e When the data has been entered, make a copy of the file and work only on the copy for the next
steps (so you will always have your basic data just in case something gets wrong when you are
working with the data).

e Check that the values have been entered correctly (scale, missing values etc.).

o If the study used a smartphone-based data collection system like akvo, the data has to be
converted into codes using the search replace function (= see Pictures 1 and 2).

e Categorize open questions without answer categories as well as all the “others” responses in “99”
- Add new columns for the new categories in the table.

With open questions or answers in the “others” category, you will get a whole range of written
answers. You will have to recode them to be able to analyze them. With this process you examine
the responses to a given question and look for ways to categorize them according to their similar
meaning.

Example question: B068 “What are the obstacles preventing you from washing your hands with
soap?”

1. Try to cluster similar responses.
2. A category name has to be found that reflects the answers of the cluster.
3. A code has to be attributed to each category.

4. Add a new column and name it BO68_kat and enter the relevant new code (see Picture

3).
Answer B068 Category Code
No money for soap Money 1
Seasonal income 1
No cash income 1
Income too low 1
Local vendors do not have itin | Availability 2
the shop
No shop in the village 2
Market is far away 2
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e Delete the “-88”, “-99” for all the questions.

2. Divide the data sample into "doers" and "non-doers”

To divide the data sample into “doers” and “non-doers” we have to form an indicator based on
several questions about the behaviour and define the cut-off point. So if a person reaches a
specific score she is classified as a “doer”; below this score she is a non-doer.

The critical questions and the score that define a doer have to be discussed in the group. This
discussion should take place while drafting the questionnaire (see Annex 5)

See an example for handwashing - this should be discussed in the group

Example of behaviour Doers Score Non-doers Score
questions Doers Non-doers
Four questions with “Imagine Handwashing 1 Handwashing with 0
different handwashing situations” | with soap is soap is mentioned
mentioned 4 0-3 times
times
How often did the person wash Answer 1 Answer category 0
their hands? category 5 = 1(never), 2
always (seldom), 3
(sometimes) and 4
(often)
How often did you wash your Define a 1 Less than 5 0
hands yesterday? minimum
number, e.g. 5
times per day
Observation: Water and soap Yes 1 no 0
available
Total score 4 0

e Add a column with the following values to all critical questions: “1 = doers” et “0 = non-doers”

e Add a column where you can calculate the total score and decide if the person is a “doer” or a
“non-doer”.
e Calculate the percentage of doers and non-doers in the sample.

= See Picture 4

e Discuss the result:

o If the percentage of the “doers” in the sample is very low or too high (e.g. below 10 %),
discuss if your defined indicator is too ambitious or not ambitious enough. If there really
are almost no doers, the question about the intention to perform the behaviour can be
added.

¢ Divide the data sample in “doers” and “non-doers”.

= See Picture 5
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3. Analyze the potential intervention for questions measuring the
behavioural factors

e For the variable of the data with interval (questions number 1 to 5)

o Calculate the means for doers and non-doers separately;
o Calculate the difference in the means for doers and non-doers;
o Calculate the mean value of the whole sample.

e For yes/no questions:
o Calculate the means for doers and non-doers separately - the mean value is the
percentage of interviewed persons, who said “Yes (1)”;
o Calculate the difference of the mean between doers and non-doers;
o Calculate the mean value (percentage of interviewed persons who said “Yes (1)”) for the
whole sample.

e For variables with nominal data:
o Select the most frequent category for doers and non-doers, and calculate the percentage
for both doer and non-doer categories;
o Calculate the differences of percentage between doers and non-doers for both categories;
o Calculate the percentage for both categories for the whole sample.
O
o Prepare separate graphs per factor group with the following values:
o Mean values for doers and non-doers);
o Difference between the mean values of doers and non-doers;
o Mean value of the whole sample.

= See Picture 6

Also:

e Describe the sample using the socioeconomic (revenue, etc.) and socio demographic (age,
education, etc.) information and the approximate measures;
e Compare doers and non-doers in relation to this information.
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B037: Create a column for New BO85: Open question New
each answer option. Insert column for answers have to be column for
a 1if the option was grouped in new categories
mentioned, and a 0if not. l and coded. See table l
Behavior Factor
B022 B022_kat( (BO37_0lin which
0 el e s oo |
= 1 |washyour flands you feel dirty closed] HOW | B hgs (open) What are the BO85_kat (open) What are the
orp |YOUr your with water and B037_|B037_|B037_|BO37_|B037_|BO37 |, 0 oo BO37_| i envoudont |PETESEDlEisitto | L i from |obstac u from
u
husband's |husband’s |soap? Open 1z |3 a5 s = Kat_7 Vol wash your hands ! o ! L=
. N . 'wash your hands . washing your hands with soap? (washing your hands with soap?
main main |question, check the it o2 with soap?
income [income | mentioned P?
activity? |activity? [answers. Multiple
1 1 1 1 0 0| 0 0 0 0 0 5 5|No obstacles. 1
2 1 1 o 1 1 1 1 o o 0 4 4|No money 2
3 1 1 1 0 0| 0 0 0 0 0 4 5|Distance to town to buy soap 4]
4 2 2 o 1 0 0 0 0 0 0 1 4|No income 2
5 1 1 o 1 0 o 0 o o 0 1 4|No income 2
[ 1 1 0 1 0 0 0 [¢] 0 0 1 4|No money 2
7 1 1 0 1 0 0 0 0 0 0 1 4|No maney 2
8| 4| 4 0 1 1 1 0] 0 0 0] 4 4|Occasional shortages of money| 2
E] 1 1 0 1 0 0 0 [¢] 0 0 1 4|shortage of money 2
10 1 1 0 1 0 0 0 0 0 0 — —_— 4|shortage of money 2
11 1 1 of 1l 1l 1] 4] 4 o ol | e ,answe“’:‘(;?" 2|No cask 2
12 3 3 0 0 0 0 0 [¢] 0|before praying 1 Others” was used, the 4|No obstacles 1
13 1 1 0 1 1 1 1 1 1 of | answers have to be 5|Hard to say. | always have wate] 1
14 |Fishermen 6| 0 0 0 0 0] 0 0|before praying 1 categorised. 4|Income too low 2
15 1 1 0 1 1 1 1 1 1 0 4|No obstacles. 1
16| Driver 7 o 0 0 0 0 ("] 0|before praying 1 4|No maney 2
17 1] 1 0 1 0 0 0 [e] 0 0 S[Not in the habit of using scap 3
B022 New categos 22 BO85 New category B085_kat
Agriculture 1 1 R No obstacles 1
le raisi B0O22: Two new categories
Cattle raising 2 2 of income activities have No moneys 2
Business man 3 3 come up for this question No habit 3
Artisan 4 4 in the answer option and Distance to soap shop 4
employee 5 5
Fisher men EE] 6
Driver 99| 7
data 1 Coding Indicator Separation Mean calculation Graph (O]

The new defined
categories are entered in
an additonal column.

Valérie Cavin ~
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N25 - fr
A B C D E F G H | 1 K L M N o] P 1] R 5
If the answer is 2 (=handwashing If the answer iz 5 or mors, the Here, you calculate the
1 Behavior with s0ap), the persan is person is considered to be = doer sum of the 4 sub- Factars
conzidered to be 3 dosr and gets and gets the code 1 indicatazr. You can use
2 | Question | BO30 the code 1 ir | 'You can use the following formula: 03] the following formula: BOE1 BOGS BOT0 BOT BO7Z BOTS BO74
You can use the following =IF{G4=4;1:0) =C4+E4+G4+14 Tmagmne Inyour |Do people
come bl formula: =IF(B451;1;0) if you Py
from thi z_’___..--""_/ -\//_ contract h';'::r::;:’ ir:h:rtaal:t Do you How
market in your ed [closed] ny P think that | important
village. and diarrhea. |Do you :_f‘::sed] peo‘fl? n e:n‘:::::n you are isitto
your H Observati Ob Total How feel dirty bl h » hol ' 9| Gbleto you to
neighbour |Imagni | How often do (Frequ | . O many on: Is =87 Score_ |Handwas| severe |when wou agreea ousenhol| e youto always always
- h times did you | amoun 4 |vation| o hi id | don” eisitto d wash always h h
ORD invites you to ne you was| ency_| 7 chyour |Cindic w ater an ndicato ing wou on't wazh their wash your | ¥ 250 your | wash your
eat with him. |Indica| your hands |Indica hand ror 3 soap Indi r DoeriMon the wash hand hand hand with hands
What do you | tor 1 with soap? | tor 2 ancs ator available | "o %? | Handwa doer impact |your gour ands mands soap after | with soap
do f th yesterday? > ror 4 hi hand hands with soap | with soap def ti o wat
o mn: ] shing ;n_lycif.;r at: £ with after after e Ecadll'l anb :a er
mament you al y,?l e | 2 soap? defecatin | defecatin g an etore
get there until be? soap? before handling
U skark bo [economi g and g and eating? food?
:at'? 0= HW cally before before 9* ;
3 nnt mentinned snciallul eating? eating?
= 1 2 1 5 1 g 1 1 1 4 | = = = 4 4 4 4
E g g :II g D‘I g :II :II :II 3 3 .‘-"""‘rlfthe sum af the sub-indicators is 4, g g g 3
- the person is considered to be 2
;: g S I; :II g g L:II 01 01 g g doer and gets the code 1. g % g %
; B 1] ] ] 1] 7 ] 1] 1] ] i] You cam use the following formula: F) 2 2 q
10 Fi 2 1 1 [i] 5 1 1 1 ] 1] 3 1 3 2
11 [i] 1] 1] 4 1] 3 a 1] 1] a a ] T T Z2 4 4 3
12 3 1] 0 1 0 4 1] 1 1 1 1] 2 1 4 4 2 3 2
13 10 i] 0 1 i} 3 1] i] i} 1] 1] 4 1 4 3 3 4 4
14 i 1] 1] 4 a 1] a 1] a 1] a 5 4 4 2 3 3 2
15 12 1 1] S 1 7 1 1 1 3 1] 4 2 4 4 2 2 3
16 13 1] 1] 4 a 2 a 1] a 1] a A ] 3 4 ] 4
17 ik 1] 0 4 0 5 1 1] 0 1 0 Here, you will ses the N 4 3 2 3 4
18 15 2 1 5 1 S 1 1 1 4 1 identified doars. Lse 4 4 4 3 4
15 16 1] 1] d4 a 1 a 1] a 1] a h - . 4 2 2 2 2
20 7 I 1 5 i 3 1] I I 1 I e 5 3 4 4 3
21 Awerage Sample 35,0 29,97 a7 7% 47T 7. G separate your ssmpie g 3.2 2.9 5.5 kN
o into doers 2nd non-
:5 doers.
o Here, you can calclulate the percentage of \ J Here, you can calclulate the mean score of
:; doers for this specific sub-indicator. the whole sample for this question.
T"E You can use the follwing formula: Check the percentage of dosrs in You can use the follwing formula:
a7 =AVERAGE(C4:C20) your sample. If it is too high or too =AVERAGE|F4:F20)
28 lowy, rediscuss your indicator.
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Picture 5
FILE HOME IMSERT PAGE LAYOUT FORMULAS DATA REVIEW VIEW
M24 f{ {closed) How agreeable is it to wash your hands with soap?
& E c ] E F =] | J K L r N ] =]
Behavior Factor
ENz0 C|E03 | E0EE _|E03E | |EOZS _|Enz! Enzg “JE0zY C Elrum Elrumind -~ |E0E] | =10 ~E0TD
T -
.
Aglmrad)
Wse the filker funchicn ta seperst=
Huus Ohkrar | Tutal doers from nom-3oers.
Huu aften du e watim H.BMark the whale table, and nat
ORD wark ymur - Indicat anly the column, when you use
Indic mr the filber funchicn. map
rartardar? “:' Handus afts
dsFacar
rEtart tm aat}
A HW smr
H i 4 L] & 1 i i 3 1] Ll Ll E E H E
2 i 1 L] H 1 i i El 1] 1 Ll E z Ll z
0 0 1 L] 2 0 0| 0 1] 1] 1 Ll 2| E 5| E
] 1] 1 1] 1 0 1] 1] 1) 1] 1 d o z | d
Z 1 1 L] E 1 1 1 El 1] 1 4 E 1 3 z
0 L] d L] k] L] L] L] [1] [1] d d g d d =
0 L] 1 L] d L] 1 1 1 1] 1 4 d z 3 z
0 0 1 L] e 0 0| 0 1] 1] 1 Ll E E Ll 4
0 0 | L] 0 0 0| 0 1] 1] Ll Ll 2| E 3 z
1 0 5 1 T 1 i i El 1] | Ll Ll z | E
] 1] 4 1] 2 0 1] 1] 1) 1] d 5 E d 5 d
L] L] | L] E 1 L] L] 1 1] 4 4 E z 3 4
0 L] d L] 1 L] L] L] [1] [1] d d g Z | Z
0 L] H 1 ] 0 | L] 1 1] 5| 5| E d d| ]
1.4z 1d.3x 35.7: 5.7z 0.0z d. Z. 3.
Behavior Factor
25 | Gwartimn HYEOZ0 E0: ind EO3E EnZE indEOZ5 EN:5 ind| E0Z% E0Zd in|Elrum Edrumind |E0E1 EQEd EOTi EOTi EdTZ EOTE E0Td
(clmrad)
[clmrad)
Tutal
Hau aftan du Scm
ORD Indicat
- -r IrEap
with rmap? yartarday? Handua afta
dsFacatin
ntil ymm
rEtart tm aat}
- HW amt
24 . i
H i 5 1 ki 1 i i 4 H 4 4 Ll 4
H i 5 1 H 1 i i 4 H 5 H 3 4
z 1 5| 1 H 1 1 1 | | | | E |
10010 10010 100,10 00,0 d. d, 2.

Ilesn soars of nor-dasr
caloulsted using the aversge
function.

Thass resuits will b= used to

in soare of doers
lculsted using the aversgs
fanction.

These results will be used to

make the graphs.
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Picture 6

FILE HOME INSERT PAGE LAYOUT FORMULAS DATA REVIEW VIEW

A6 vl ﬁ Doers
A B C D E F G H | J K L
1
2
3 Factor
4 |Question Nr: BO61 BOGS BO70 BO71 BO72 BO73 BO74
I Do I
Imagine n.yi.}ur peop’e
opinion, | whoare | Doyou
vtouct how many|important| think that| How
m":‘ € Do peoplein| toyou you are |important
. vm_" How your encourag | ableto |[isittoyou
diarrhea. |feel dirty
agreeable | househol | eyouto | always |toalways
How |whenyou |, ~,
K isitto dwash always |wash your|wash your
severe (don't .
ORD wash your| their |washyour| hands hands
would the |\wash your . .
. hands hands hands |with soap | with soap
impact on hands with with soap | with soa after |and water
your daily |with P P . Mean score of
. soap? after after |defecatin| before d
life be? |soap? . . . EE
. defecatin | defecatin| gand handling
[ecczlr:oml gand gand before food?
. Vs before before | eating?
socially) o ia
5 eating? eating? (e sEEre @
6 |Doers 4.3 4.7 4.7 4.3 4.3 3.3 4.0 non-doers
7 |Non-doers 4.2 2.6 4.1 2.9 2.6 3.5 2.9
8 |Total sample 4.2 3.0 4.2 3.2 29 35 31
9 |Differences Doers-Non-Doers 0.1 2.0 0.5 14 1.7 -0.2 11 Meanbeorelar
10 total
11
12 .
13 Doer vs non-doer analysis
14 5.0 Difference doers vs.
15 a0 doers
16 20 you can use the following
- formula: =L5-L6
17 20
s | 1 il
1 0.0 - n - I
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